Discussion Questions on the “Book Within The Book: War is Peace”
1. “The primary aim of modern warfare (in accordance with the principles of doublethink, this aim is simultaneously recognized and not recognized by the directing brains of the Inner Party) is to use up the products of the machine without raising the general standard of living.”(196)
How does the Party use up “the products” and why does it not want to raise the standard of living?

2. What does Orwell believe will end human drudgery and inequality? Has his belief become a reality? Explain.
3. Orwell states, “In the long run, a hierarchical society was only possible on a basis of poverty and ignorance.” (198) Why?

4. “And at the same time the consciousness of being at war, and therefore in danger, makes the handing-over of all power to a small caste seem the natural, unavoidable condition of survival.”(199)  Explain 

5. “War, it will be seen, accomplishes the necessary destruction, but accomplishes it in a psychologically acceptable way.” (200) Explain the meaning of this statement. Is it true?

6. 6. “In Newspeak there is no word for 'Science'. The empirical method of thought, on which all the scientific achievements of the past were founded, is opposed to the most fundamental principles of Ingsoc.”(201) Explain why the Party is against the idea of science.
7. “War prisoners apart, the average citizen of Oceania never sets eyes on a citizen of either Eurasia or Eastasia, and he is forbidden the knowledge of foreign languages.” (204) In what way does forbidding knowledge of foreign languages enhance war hysteria?
Ignorance Is Strength Questions

1. Explain the dynamics of the three classes. Do we have a high, middle and low class today? Explain  (pg. 210)
2. “In the past the need for a hierarchical form of society had been the doctrine specifically of the High. It had been preached by kings and aristocrats and by the priests, lawyers, and the like who were parasitical upon them, and it had generally been softened by promises of compensation in an imaginary world beyond the grave.” (pg.211)
What does this statement suggest about hierarchical form of society and religion?

3. “The second danger, also, is only a theoretical one. The masses never revolt of their own accord, and they never revolt merely because they are oppressed.” (pg.216)
Why do the masses never revolt? 

4. “The problem, that is to say, is educational. It is a problem of continuously moulding the consciousness both of the directing group and of the larger executive group that lies immediately below it. The consciousness of the masses needs only to be influenced in a negative way.” (216)

How has the Party solved this problem?

5. “In our society (Oceania), those who have the best knowledge of what is happening are also those who are furthest from seeing the world as it is. In general, the greater the understanding, the greater the delusion; the more intelligent, the less sane.”(224)

What does Orwell mean with this paradox?

6. “The familiar pendulum swing was to happen once more, and then stop. As usual, the High were to be turned out by the Middle, who would then become the High; but this time, by conscious strategy, the High would be able to maintain their position permanently.”(212)
List some of the Party’s strategies and how they are used to maintain their position permanently.
7.  The invention of print, however, made it easier to manipulate public opinion, and the film and the radio carried the process further…. The possibility of enforcing not only complete obedience to the will of the State, but complete uniformity of opinion on all subjects, now existed for the first time. (214)

In reference to 1984 and  Control Room, discuss in what ways the State uses print, television, and film, among other media, to manipulate public opinion and bring about “uniformity of thought.” 
